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SQUARES AND SQUARE ROOTS

1.1s 196 a perfect square ?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_f8lynIXyY3Ta

2.1s 180 a perfect square ?

° Watch Video Solution

3. Find the square root of 484.

A. 32

B. 22

C. 26

D. 28

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1Sukkcm71UTn
https://dl.doubtnut.com/l/_bxNOW1jDT2rJ

4. Find the smallest number by which 980 be

multiplied so that the product is a perfect square.

A 11

B.4

C.8

D.5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bxNOW1jDT2rJ
https://dl.doubtnut.com/l/_A8bF5SgD49gs

5. Find the smallest number by which 3150 be divided,

so that the quotient is a perfect square.

0 Watch Video Solution

6. Find the square root of:

(1) 2;

(i) 4.41

o Watch Video Solution

7. A man plants his orchard with 5625 trees and

arranges them so that there are as many rows as


https://dl.doubtnut.com/l/_rnNtLMI9FTQB
https://dl.doubtnut.com/l/_dzcAOGmVGLPj
https://dl.doubtnut.com/l/_rSSu3rNybOZp

there are trees in each row. How many rows are there

?
A 78
B. 65
C.78
D. 75
Answer: D

° Watch Video Solution

8. In a basket there are 50 flowers. A man goes to

worship and puts as many flowers in each temple as


https://dl.doubtnut.com/l/_rSSu3rNybOZp
https://dl.doubtnut.com/l/_43uQwB2dxmeJ

there are temples in the city. Thus, he needs 8

baskets of flowers. Find the number of temples in the

city.

A. 30

B. 29

C. 20

D. 65

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_43uQwB2dxmeJ

9. Find the smallest perfect square number, which is

divisible by 8 and 12.

A 121

B. 144

C. 169

D. 196

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BWjExrI50hwG

10. Find the smallest perfect square number divisible

by 24, 30 and 60.

A. 3600

B. 3200

C. 1600

D. 2500

Answer: A

o Watch Video Solution

11. Find the square root of 276676



https://dl.doubtnut.com/l/_NwsKrykzVlRX
https://dl.doubtnut.com/l/_0oUO3oIxuRVb

\ ° Watch Video Solution

12. Using the division method find the square root of

(i) 4489

(i1) 46656

° Watch Video Solution

13. Using the division method find the square root of

(1) 605.16

(i) 0.000729



https://dl.doubtnut.com/l/_0oUO3oIxuRVb
https://dl.doubtnut.com/l/_hYUotDlc147y
https://dl.doubtnut.com/l/_nDr8MzhFk52R

‘ ° Watch Video Solution

14. Find the square root of 24.729 correct to two

places of decimal.

° Watch Video Solution

15. Find the square root of :
(i) 3, correct to three places of decimal.

(i1) 0.07688, correct to two places of decimal.

° Watch Video Solution



https://dl.doubtnut.com/l/_nDr8MzhFk52R
https://dl.doubtnut.com/l/_KfRRF81AkE6e
https://dl.doubtnut.com/l/_XLnnotFGgSfx

16. Find the least humber that must be subtracted

from 2433 so that the remainder isa perfect square.

o Watch Video Solution

17. Find the least number which must be added to

18, 265 to obtain a perfect square.

° Watch Video Solution

1. Find the square of : 59


https://dl.doubtnut.com/l/_HYvETwg1E7d3
https://dl.doubtnut.com/l/_JpCSgSsFaxxg
https://dl.doubtnut.com/l/_h2bWZT2WanOo

A. 3681

B. 3981

C. 3481

D. 3881

Answer: C

° Watch Video Solution

2. Find the square of :

6.3

° Watch Video Solution



https://dl.doubtnut.com/l/_h2bWZT2WanOo
https://dl.doubtnut.com/l/_K6rkuPMhwLIW
https://dl.doubtnut.com/l/_tACBAVFmLwbA

3. Find the square of :

15

° Watch Video Solution

4. By splitting into prime factors, find the square root
of :

11025

° Watch Video Solution

5. By splitting into prime factors, find the square root

of :


https://dl.doubtnut.com/l/_tACBAVFmLwbA
https://dl.doubtnut.com/l/_cm62ACeZ4saL
https://dl.doubtnut.com/l/_aoSA7SsVneNc

396900

A. 640

B. 630

C. 360

D. 603

Answer: B

o Watch Video Solution

6. By splitting into prime factors, find the square root
of :

194481


https://dl.doubtnut.com/l/_aoSA7SsVneNc
https://dl.doubtnut.com/l/_bqHWeXXO4Qiy

A. 321

B. 421

C. 441

D. 299

Answer: C

o Watch Video Solution

7. (i) Find the smallest number by which 2592 be
multiplied so that the product is a perfect square.
(i) Find the smallest number by which 12748 be

multiplied so that the product is a perfect square.



https://dl.doubtnut.com/l/_bqHWeXXO4Qiy
https://dl.doubtnut.com/l/_pBLC3mtpNRWz

l @Y Watch Video Solution J

8. Find the smallest number by which 10368 be
divided, so that the result is a perfect square. Also,

find the square root of the resulting number.

° Watch Video Solution

9.Find the square root of :

0.1764

A.0.48

B. 0.52


https://dl.doubtnut.com/l/_pBLC3mtpNRWz
https://dl.doubtnut.com/l/_e1fpjAQJ5gA2
https://dl.doubtnut.com/l/_Aj9bBPoKnrSA

C.0.42

D. 0.62

Answer: C

° Watch Video Solution

10. Find the square root of :

96 !
25

o Watch Video Solution



https://dl.doubtnut.com/l/_Aj9bBPoKnrSA
https://dl.doubtnut.com/l/_kdLJepecXw1G

11. Find the square root of :

0.0169

A.0.23

B.0.13

C.0.33

D.0.43

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_41GtroighjYJ

12. Evaluate :

14.4

22.5

° Watch Video Solution

13. Evaluate:

0.225
28.9

° Watch Video Solution

14. Evaluate :

25><213><025
32 718 T

N


https://dl.doubtnut.com/l/_NqH8X8DsuJwk
https://dl.doubtnut.com/l/_gFGXS4mwQR6c
https://dl.doubtnut.com/l/_tQbMzYVg4xjM

| W Watch Video Solution

15. Evaluate :

4 21 7

o Watch Video Solution

16. Evaluate :

V32 x 6% x 24

o Watch Video Solution



https://dl.doubtnut.com/l/_tQbMzYVg4xjM
https://dl.doubtnut.com/l/_07nqwFlUYe5f
https://dl.doubtnut.com/l/_XzPgFjIzKGSe

17. Evaluate :

V(0.5)% x 6 x 3°

° Watch Video Solution

18. Evaluate :

_ o2 0.169
T4 ) X 16

° Watch Video Solution

19. Evaluate :

-3



https://dl.doubtnut.com/l/_RRpmAlEj9OMP
https://dl.doubtnut.com/l/_D6VCZsgZGMAT
https://dl.doubtnut.com/l/_SYljOPvVg9S2

\ ° Watch Video Solution

20. Evaluate :

\/248—1— \/52—|—\/144

o Watch Video Solution

21. A man, after a tour, finds that he had spent every
day as many rupees as the number of days he had
been on tour. How long did his tour last, if he had

spent in all Rs. 1, 2967

° Watch Video Solution



https://dl.doubtnut.com/l/_SYljOPvVg9S2
https://dl.doubtnut.com/l/_Lt5sYzwlPAQa
https://dl.doubtnut.com/l/_6Vt4Al1H1IEo

22. Out of 745 students, maximum are to be arranged
in the school field for a PT. display, such that the
number of rows is equal to the number of columns.
Find the number of rows if 16 students were left out

after the arrangement.

o Watch Video Solution

23.13 and 31 is a strange pair of numbers such that
their squares 169 and 961 are also mirror images of

each other. Find two more such pairs.

° Watch Video Solution



https://dl.doubtnut.com/l/_pmk8wiXvKR9u
https://dl.doubtnut.com/l/_c69ysR9Hb7y2
https://dl.doubtnut.com/l/_socEdWAyfPga

24.Find the smallest perfect square divisible by 3,4, 5

and 6.

o Watch Video Solution

25.If /784 = 28, find the value of :

(1) 4/7.84 + /78400
(ii) 4/0.0784 + 4/0.000784

° Watch Video Solution



https://dl.doubtnut.com/l/_socEdWAyfPga
https://dl.doubtnut.com/l/_2VYhnJMq1Mo6

1. Find the square root of :

4761

o Watch Video Solution

2. Find the square root of :

7744

o Watch Video Solution

3. Find the square root of :

15129

| o Wiakt~hh \iAdaAn CAliikiAan


https://dl.doubtnut.com/l/_X8X5qh5wdF5g
https://dl.doubtnut.com/l/_o0tcGmWGuY1b
https://dl.doubtnut.com/l/_NSRsFJ6KXPDc

4.Find the square root of :

0.2916

o Watch Video Solution

5. Find the square root of :

0.001225

o Watch Video Solution



https://dl.doubtnut.com/l/_NSRsFJ6KXPDc
https://dl.doubtnut.com/l/_g0AKE88okJFo
https://dl.doubtnut.com/l/_VaGQBBk5gFMV

6. Find the square root of :

0.023104

o Watch Video Solution

7.Find the square root of :

27.3529

o Watch Video Solution

8. Find the square root of :

4.2025

| o Wiakt~hh \iAdaAn CAliikiAan


https://dl.doubtnut.com/l/_mOVlNF3kXOrV
https://dl.doubtnut.com/l/_QJQg2zPD7O5e
https://dl.doubtnut.com/l/_EkPmzslt8g2V

9.Find the square root of :

531.7636

o Watch Video Solution

10. Find the square root of :

0.007225

o Watch Video Solution



https://dl.doubtnut.com/l/_EkPmzslt8g2V
https://dl.doubtnut.com/l/_otEMXsi0FcKM
https://dl.doubtnut.com/l/_lrVSkJi9TIvS

11. Find the square root of :

245 correct to two places of decimal.

o Watch Video Solution

12. Find the square root of :

496 correct to three places of decimal.

° Watch Video Solution

13. Find the square root of :

82.6 correct to two places of decimal.

[ o Wiakt~hh \iAdAaAaA CAliikiAan


https://dl.doubtnut.com/l/_hSyWI59tCh8c
https://dl.doubtnut.com/l/_xkIw21MieRml
https://dl.doubtnut.com/l/_Uf2BQS9fjdjJ

14. Find the square root of :

0.065 correct to three places of decimal.

° Watch Video Solution

15. Find the square root of :

5.2005 correct to two places of decimal.

o Watch Video Solution



https://dl.doubtnut.com/l/_Uf2BQS9fjdjJ
https://dl.doubtnut.com/l/_Ldp4WuZiOR15
https://dl.doubtnut.com/l/_v7V3GgLY9Zdq

16. Find the square root of :

0.602 correct to two places of decimal.

o Watch Video Solution

17. Find the square root of each of the following

correct to two decimal places :

(i) 3%
o 1
(i) 6§

0 Watch Video Solution



https://dl.doubtnut.com/l/_kgm4DDyFUm8L
https://dl.doubtnut.com/l/_iCNQcrP3hr3c

18. For each of the following, find the least number
that must be subtracted so that the resulting
number is a perfect square.

(1) 796

(i) 1886

(i) 23497

O Watch Video Solution

19. For each of the following, find the least number
that must be added so that the resulting number is a

perfect square.

(i) 511


https://dl.doubtnut.com/l/_VWUH1mtFb41I
https://dl.doubtnut.com/l/_lkTfRefMMBf7

(i) 7172

(iii) 55078

° Watch Video Solution

20. Find the square root of 7 correct to two decimal

447
47

places, then use it to find the value of

correct to three significant digits.

° Watch Video Solution

21. Find the value of /5 correct to 2 decimal places,

3—+/5
3++5

then use it to find the square root of


https://dl.doubtnut.com/l/_lkTfRefMMBf7
https://dl.doubtnut.com/l/_Jn22tkPDCFWM
https://dl.doubtnut.com/l/_9p9dbK0amqya

correct to 2 significant digits.

° Watch Video Solution

22. Find the square root of :

(i 1764
2809
(i) 507
4107
(iii) 4/108 x 2028
(iv) 0.01 + 4/0.0064

o Watch Video Solution

23.Find the square root of 7.832 corret to :

(i) 2 decimal places


https://dl.doubtnut.com/l/_9p9dbK0amqya
https://dl.doubtnut.com/l/_tnhxyb8EIPNF
https://dl.doubtnut.com/l/_c6KNjBeTgGZQ

(i) 2 significant digits.

° Watch Video Solution

24. Find the least number which must be subtracted
from 1205 so that the resulting number is a perfect

square.

° Watch Video Solution

25. Find the least number which must be added to
1205 so that the resulting number is a perfect

square.



https://dl.doubtnut.com/l/_c6KNjBeTgGZQ
https://dl.doubtnut.com/l/_QdogrVQywyMN
https://dl.doubtnut.com/l/_zsVIhyPIyepE
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26. Find the least number which must be subtracted
from 2037 so that the resulting number is a perfect

square.

° Watch Video Solution

27. Find the least number which must be added to
5483 so that the resulting number is a perfect

square.

° Watch Video Solution



https://dl.doubtnut.com/l/_zsVIhyPIyepE
https://dl.doubtnut.com/l/_sgVbVTWufBJ3
https://dl.doubtnut.com/l/_Se3tn9lTZuPw

1. Seeing the value of the digit at unit's place, state
which of the following can be square of a number ?
(1) 3051

(i1) 2332

(iii) 5684
(iv) 6908

(v) 50699

° Watch Video Solution



https://dl.doubtnut.com/l/_aU1irMLzYD3j

2. Squares of which of the following numbers will
have 1(one) at their unit's place ?

(1) 57 (i) 81

(iii) 139

(iv) 73

(v) 64

0 Watch Video Solution

3. Which of the following numbers will not have 1
(one) at their unit's place ?
(i) 32°

(i) 57


https://dl.doubtnut.com/l/_GgiL8EFJvSat
https://dl.doubtnut.com/l/_ommp1uaS7Qtq

(iii) 692
(iv) 3212

(v) 2652

o Watch Video Solution

4.Squares of which of the following numbers will not

have 6 at their unit's place ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ommp1uaS7Qtq
https://dl.doubtnut.com/l/_cJQMmjScLfL5

5. Which of the following numbers will have 6 at their
unit's place:

(i) 26°

(ii) 497

(iii) 34°

(iv) 437

(v) 2442

° Watch Video Solution

6. If a number ends with 3 zeroes, how many zeroes

will its square have ?



https://dl.doubtnut.com/l/_cJQMmjScLfL5
https://dl.doubtnut.com/l/_0yFJO3agUgF7
https://dl.doubtnut.com/l/_kv90To7UyTno

‘ ° Watch Video Solution

7.1f the square of a number ends with 10 zeroes, how

many zeroes will the number have ?

° Watch Video Solution

8. Is it possible for the square of a number to end

with 5 zeroes ? Give reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_kv90To7UyTno
https://dl.doubtnut.com/l/_3znfzurDzXdu
https://dl.doubtnut.com/l/_elSS8nazw2hO

9. Give reason to show that none of the numbers,
given below, is a perfect square.

(i) 2162

(i) 6843

(i) 9637

(iv) 6598

° Watch Video Solution

10. State, whether the square of the following

numbers is even or odd ?


https://dl.doubtnut.com/l/_bRAaoJUaUlQW
https://dl.doubtnut.com/l/_gC5k9ugP91RF

(iii) 76

(iv) 75

o Watch Video Solution

11. Give reason to show that none of the numbers 640

, 81000 and 3600000 is a perfect square.

° Watch Video Solution

12. Evaluate :

372 — 362

° Watch Video Solution



https://dl.doubtnut.com/l/_gC5k9ugP91RF
https://dl.doubtnut.com/l/_2pTidAY7gn7W
https://dl.doubtnut.com/l/_3ebT6u0nhAEe

13. Evaluate :

852 — 842

° Watch Video Solution

14. Evaluate :

1012 — 1002

° Watch Video Solution

15. Without doing the actual addition, find the sum

of:


https://dl.doubtnut.com/l/_3ebT6u0nhAEe
https://dl.doubtnut.com/l/_FvyzDoh139sq
https://dl.doubtnut.com/l/_xJabEHN95Yho
https://dl.doubtnut.com/l/_WFO05gNsp5T5

1+3+54+7+94+114+134+ 15+ 17+ 19 + 21 + 23

° Watch Video Solution

16. Write three sets of Pythagorean triplets such that

each set has numbers less than 30

° Watch Video Solution



https://dl.doubtnut.com/l/_WFO05gNsp5T5
https://dl.doubtnut.com/l/_UzssLeYddScl

